2009 IN REVIEW



The 2009 season for the Buffs couldn't have started off in any better way than a 1-0 win over Big 12 competitor and nationally ranked No. 11 Oklahoma State on Aug. 22. After a scoreless first half, sophomore Kelly Butler netted Colorado's loan goal during the 62nd minute of play to give CU its first win of the season as well as its first conference win.

The following weekend, Colorado traveled to Denver to take on No. 13 Illinois and St. Mary's College in the Denver Invitational Tournament. The Buffs struggled in their game against the Fighting Illini but Kassidy Fitzpatrick managed to sneak in a goal with less than a minute to play in the game, but CU fell 2-1.

Colorado's scoring drought that was present in their previous game was nonexistent against St. Mary's when they managed eight goals while holding the Gaels to just one. Colorado's scoring drive started just 00:23 into the game when Nikki Marshall

scored an unassisted goal. Just under two minutes later, Nikki Marshall scored again with an assist from fellow senior Ally Goodman. Kelly Butler followed Colorado's scoring pattern by scoring the Buffs' third goal another two minutes later off an assist from Erin Bricker. CU's offense stayed in control as Fitzpatrick and Butler contributed the next two goals. St. Mary's helped CU put in its sixth goal when Nikki Marshall shot the ball which ricocheted off a SMC defender and into the net to make the score 6-0 going into halftime. Amy Barczuk showed the Gaels that CU wasn't finished scoring as she rebounded her own shot and put it right back into the goal only five minutes

into the second half. Colorado's eighth and final goal of the game was scored by Quinn Krier and assisted by Kelly Menachof. St. Mary's showed up on the scoreboard in the 83rd minute of the game when Jessica Menzhuber passed the ball to Alex Ciliento who scored to make the final score 8-1 with the Buffaloes on top. At the conclusion of the tournament, Nikki Marshall was named to the DU Invitational All-Tournament team.

The Buffs returned home to host the eighth annual Colorado Soccer Classic on Sept. 4-6. They welcomed Denver, Oregon and Colgate to Prentup Field. During their first game of the tournament against DU, the Buffs were nationally ranked at No. 15 which was their highest rank of the 2009 season. An impressive 2,711 fans showed up, which was the second largest crowd Prentup Field has ever seen. In a 109-minute battle, the two teams played to a 0-0 tie until senior Nikki Marshall scored the only goal of the game at 108:57 to end it in the favor of the Buffs, 1-0.

Just two days later, No. 15 Colorado played Oregon in its second matchup of the tournament. Colorado struggled to score as the Ducks managed two by the time the Buffs got onto the scorebaord in the 66th minute of the game. Shaye Marshall logged her first collegiate goal with an assist by Butler. With the 2-1 loss, Colorado's record fell to 3-2.

Following the tournament, the Buffs stayed in Boulder to take on the University of Utah on Sept. 11. CU continued to be nationally ranked at No. 20. Just seven minutes into the game, Kelly Ross put the Buffs on the board while logging her first goal of the season with assists from teammates Fitzpatrick and Bricker. The Utes eventually tied the game 1-1 at 54:24 with a goal by Erin Dalley and assist by Lauren Hair, but the Buffs battled in order to win the game in the 87th minute with a game-winning goal by Kym Lowry and assist by Mary White.

The Buffaloes traveled south to Gainesville, Fla. to take on the 14th-ranked Gators on Sept. 13. The Buffs struggled as Florida put up three goals, but CU had no intention of being shutout. Kate Russell put the Buffs on the scoreboard while netting her first goal of the '09 season. Despite losing to the Gators, Colorado held its own and was only outshot 10 to nine throughout the game.

CU still owned the title of being a nationally ranked team at No. 23 regardless of their loss the previous weekend. The Buffs traveled west to California to compete in the Stanford/NIKE Classic with Stanford and Santa Clara. The Buffs suffered their first shutout loss against undefeated Stanford, 4-0. The Buffs managed to hold off the Cardinal offense from scoring their first goal until the 17th minute, which was an impressive feat considering Stanford averaged 29.5





2009 IN REVIEW

shots per game in 2009.

Colorado's struggle to score continued as CU suffered its second shutout loss in a row to Santa Clara in overtime, 1-0. The first and only goal of the game was by Santa Clara's Kiki Bosio. She headed the ball into the back of the net off of a corner kick at 98:09. After the loss, Colorado was 1-4 against top 25 teams and 4-5 overall.

After three road losses in a row, the longest losing streak of the season, Colorado turned around to beat Nebraska, Iowa State, and Oklahoma at home. The Buffs shut out the Cornhuskers 1-0 on Sept. 25 after Fitzpatrick scored the only goal of the game with an assist from teammate Amanda Foulk in the 68th minute. The goal marked Fitzpatrick's third goal of the season, and the win gave Colorado a 2-0 record in the Big 12 Conference.

Just two days later, a similar scenario played out with Colorado blanking Iowa State, 1-0. Kelly Menachof teamed up with Bricker to put away the lone goal early in the game at 4:17, and CU's victory allowed them to stay undefeated (3-0) in conference play.

Oklahoma visited CU on Oct. 2. Senior stud Nikki Marshall led the Buffs to a 5-1 victory after scoring an impressive four goals. The first goal of the game was by Nikki Marshall and assisted by Butler at 21:16. The Sooners answered back with a goal only four minutes later to tie the game at 1-1, but the Buffs fought back when Butler started a four goal scoring drive at the 35th minute mark. Nikki Marshall assisted the Butler goal before scoring three in a row, two unassisted goals and one assisted by Menachof. Nikki Marshall's four-goal effort tied her own school record which she set as a freshman in a 5-1 victory over Clemson on Sept, 1 2006. Her four goals and one assist for nine points broke her previous career-high point total of eight points in one game which she set in that same 2006 match-up against.

Colorado traveled to Baylor on Oct. 4 with a 4-0 record in the Big 12 while the Bears were 0-2-1 in conference competition. Baylor challenged the Buffs by putting up the first goal of the game at 69:46, but CU retaliated and tied the game 1-1 with an unassisted goal by Fitzpatrick ten minutes later. The Bears surprised the Buffs late in the game when Christine Clark scored the game-winning goal for Baylor with an assist by Bethany Johnson. The 2-1 loss to Baylor gave the Buffs their first conference loss of the season.

On Oct. 9, the Buffs traveled to Missouri to battle the Tigers but fell in overtime, 1-0. Missouri stayed undefeated in conference play while giving CU its second conference loss of the season. The Buffs battled and nearly made it onto the scoreboard when the Marshall sister-act teamed up to send the ball towards the goal which unfortunately did not make it in.

CU continued its road-game stretch when they traveled to Kansas to shut out the Jayhawks on Oct. 11. This marked the first on-theroad conference win for the Buffs and improved their overall record to 8-7 and 5-2 in the Big 12. The Buffs held the Jayhawks scoreless which marked the fifth shutout victory in 2009 for goalkeeper Kara Linder. Bricker scored the lone goal of the game at 15:38, and the Colorado defense held back the Kansas offence to keep the score 1-0 for the remainder of the game.

The Buffs took a 12-day mini-vacation from games before they traveled to College Station, Texas to take on No. 20 Texas A&M on Oct. 23. Texas A&M defeated Colorado for the 17th time in 19 tries. The Aggies beat the Buffs 2-0.

Colorado stayed in Texas to take on the Longhorns just two days later. The Buffaloes battled the Longhorns to a scoreless tie until the 90-minute buzzer sounded to send the game into overtime. The two teams battled to another scoreless tie after the first ten minutes of overtime. At the beginning of the second overtime period, Texas was awarded a free kick in the 101st minute, and Leah Payne stepped up to take the kick. Payne sent a high-ball into the middle of the Colorado goal box. The ball bounced once and Sophie Campise one-



touch volleyed the ball into the back of the net, ending the game and giving Texas the 1-0 overtime victory.

After five road-games in a row, CU was happy to welcome Texas Tech to Prentup Field for their final game of the season as well as their Senior Day on Oct. 30. In true Nikki Marshall fashion, she scored the first goal of the night at 52:58 with an assist by Bricker. Soon after the first Colorado goal, Bricker teamed up with Russell to put one in the back of the TTU net to put the Buffs up 2-0, which was the score for the remainder of the game.

The Buffs 6-4 record was good enough for third overall in the Big 12 Conference. Nikki Marshall was named first-team All-Big 12 while Barczuk was earned second-team and newcomer team All-Big 12 honors. Bricker also earned an All-Big 12 newcomer team spot.

The Buffs entered the Big 12 Tournament as the No. 3 seed and took on the No. 6 seed, Texas, in the first round. CU fell to Texas 1-0 in a double-overtime battle which ended their '09 season. The first goal of the game was scored in the 106th minute by Longhorn Hannah Higgins and assisted by Courtney Goodsen.

At the conclusion of the season, senior Nikki Marshall earned a first-team All-Central Region honor. Throughout her four years as a Buffalo she had scored 42 goals and nine assists for 93 points which puts her at the top of CU's all-time leading scorers list.

2009 Colorado Soccer Honors

Preseason All-Big 12 Nikki Marshall Caroline Danneberg

All-Big 12 Nikki Marshall (First Team) Amy Barczuk (Newcomer & Second Team) Erin Bricker (Newcomer Team)

Big 12 Player of the Week Kara Linder (Defensive 8/25, 9/29) Quinn Krier (Newcomer 9/29)

> Academic All-Big 12 Kelly Buter (First Team) Ally Goodman (First Team) Nikki Marshall (First Team) Kelly Ross (First Team)

Amanda Foulk (Second Team) Kara Linder (Second Team) Kelly Menachof (Second Team) **CU Athlete of the Week** Nikki Marshall (8/30, 10/6)

Hermann Trophy Watch List Nikki Marshall

Preseason All-America Nikki Marshall (First Team)

Lowe's Senior CLASS Award Nikki Marshall (Nominee)

> DU Invitational **All-Tournament Team** Nikki Marshall

CS360's Primetime Performer of the Week Nikki Marshall (10/4)

All-Central Region Nikki Marshall (First Team)



2009 RESULTS AND STATISTICS

Date 3/22	Opponent *#11 OKLAHOMA STAT	W/L E W	Score 1-0	Attend. 1,144			als score	d (Assist) sisted)						
3/28 3/30	vs. #13 Illinois vs. St. Mary's College	L W	1-2 8-1	497 327		N.	Marshall						r), Fitzpatrick	(Unassiste
9/4	DENVER	W O2	1-0	2,711		N.	Marshall	sisted), OW (Unassisted		Daizcuk (Unassisieu	i), Kilei (iv	ienachor)	
9/6 9/11	OREGON UTAH	L W	1-2 2-1	1,120 708			Marshall (Butler) trick, Bricke	ar) Lown	(\M/hita)				
)/13	at #14 Florida	L	1-3	597			ssell (Una		oi), LOWIY	(vviiito)				
)/18)/20	at #13 Stanford vs. #12 Santa Clara	L L OT	0-4 0-1	1,253 200										
9/25	*NEBRASKA	W	1-0	855			zpatrick (F	oulk)						
9/27 10/2	*IOWA STATE *OKLAHOMA	W	1-0 5-1	1,304 1,136			nachof (E		tlar (N. Ma	roball\ N	Marchall (I	Manachaf), N. Marshall	I /I Inacciet
10/2	OKLAHOWA	VV	5-1	1,130				Unassisted	*	isriali), iv.	Maishall (I	vienaciioi), IN. Marshall	เ (บกลรรเรเ
0/4	*at Baylor	L	1-2	209			zpatrick (l	Jnassisted)	,					
0/9 0/11	*at Missouri *at Kansas	L OT W	0-1 1-0	612 654		 Brid	cker (Una	ssisted)						
0/23	*at #20 Texas A&M	L	0-2	2,622			`	,						
0/25 0/30	*at Texas *TEXAS TECH	L O2 W	0-1 2-0	1,104 582		 N	Marshall	Unassisted	l) Bricker	(Russell)				
1/4	^vs. Texas	L O2	0-1	364			Maronan	01140010100	i), Dilokoi i	(11400011)				
	Conference Game; ^-Big 1		ament Ga	ame; 1-NCAA	First Rou	nd								
naiviau Iame	ıal Statistics (All Gam GP-GS	nes) Min.	G	GPG	_AAP	G	Pts	PPG	Sh	Shot%	SOG	SOG%	GW	PK-ATT
likki Mai	rshall19-19	1573	8	.421	1 .0	53	17	.895	53	.151	18	.340	3	0-0
	ler15-14 Fitzpatrick19-19	1097 1416	4 4	.266 .211	2 .1:		10 9	.666 .474	33 35	.121 .114	18 17	.545 .486	2 1	0-0 0-0
rin Brick	ker18-14	941	2	.111	4 .22	22	8	.444	17	.118	7	.412	1	0-0
	ssell15-15 nachof19-15	1207 1258	1 1	.067 .053	2 .13		4 4	.267 .211	29 26	.034 .038	7 9	.241 .346	0	0-0 0-0
my Bar	czuk 19-19	1258	1	.053	0 .00		2	.105	26 16	.062	3	.188	0	0-0
	arshall19-19	1607	1	.053	0 .00		2	.105	9	.111	3	.333	0	0-0
	/ry15-13 ier18-10	1111 1199	1 1	.067 .056	0 .00		2	.133 .111	8 8	.125 .125	2 2	.250 .250	1. 0	0-0 0-0
elly Ros	ss19-17	1370	1	.053	0 .00	00	2	.105	5	.200	1	.200	0	0-0
	dman19-9 Foulk17-2	727 318	0	.000 .000	2 .10		2 1	.105 .059	3 5	.000	1 2	.333 .400	0	0-0 0-0
lary Wh	ite4-2	133	0	.000	1 .2	50	1	.250	2	.000	0	.000	0	0-0
	shaner19-1 wlin18-6	561 903	0	.000 .000	0 .00		0	.000	5 3	.000	3 1	.600 .333	0	0-0 0-0
Caroline	Danneberg 19-6	677	Ö	.000	0 .00		0	.000	1	.000	Ö	.000	0	0-0
	ppy3-0 s8-0	44 188	0	.000	0 .00		0	.000	1 0	.000	0	.000	0	0-0 0-0
	estraw2-0	12	0	.000	0 .00		0	.000	0	.000	0	.000	0	0-0
	eury5-0	94	0	.000	0 .00		0	.000	0	.000	0	.000	0	0-0
	ramek3-0 Marsala2-0	55 12	0	.000 .000	0 .00		0 0	.000	0	.000	0 0	.000	0	0-0 0-0
	acca8-8	551	0	.000	0 .00		0	.000	0	.000	0	.000	0	0-0
	der19-19 ore2-0	1736 28	0	.000	0 .00		0	.000	0	.000	0 0	.000	0	0-0 0-0
Kellis Joh	nnson1-0	11	0	.000	0 .00	00	0	.000	0	.000	0	.000	0	0-0
	19 ENTS19	-	26 22	1.37 1.158	16 .84 18 .94		68 62	3.579 3.263	258 302	.101 .073	95 94	.368 .311	9 10	0-0 0-0
	GP <u>-GS</u> M der19-19 17	inutes 29:10	GA 21	_AvgSa 1.09		ve%_ .772	W_ 9	LT_ 10 0	Shutou					
Kellis Joh	nnson1-0	10:25	1	8.64	1	.500	0	0 0	()				
		34:44 74:19	0 22	0.00 1.12		.000	0 9	0 0 10 0	(
PPONE		74:19	26	1.32		726	10	9 0	Č					
ndivid	ual Statistics (Confere	nce G	ames O	nlv)										
lame	GP-GS	G	GPG	A AP			PPG	Sh	Shot%	SOG	SOG%	GW	PK-ATT	
	rshall 10-10 ker 9-7	5 2	.500 .222	1 .10 2 .22			1.10 .666	30 8	.167 .250	10 3	.333 .375	1 1	0-0 0-0	
elly But	ler7-6	2	.286	1 .14	3 5	5	.714	15	.133	9	.600	2	0-0	
	Fitzpatrick 10-10 nachof 10-10	2	.200 .100	0 .00 1 .10			.400 .300	17 16	.118 .062	7 8	.412 .500	1 1	0-0 0-0	
ate Rus	ssell7-7	0	.000	1 .14			.143	5	.002	1	.200	0	0-0	
	dman10-4	0	.000	1 .10			.100	1	.000	0	.000	0	0-0	
	Foulk 8-2 /ry7-5	0	.000	1 .12 0 .00			.125 .000	1 5	.000	0	.000	0	0-0 0-0	
		0	.000	0 .00	0 0		.000	5	.000	2	.4000	0	0-0	
ym Low haye M	arshall9-1	0	.000	0 .00			.000	5 4	.000	0 1	.000 .250	0	0-0 0-0	
ym Low haye M my Bard	czuk 10-10	0					.000	3	.000	2	.667	0	0-0	
iym Low haye Maro Imy Baro Iuinn Kri auren S	czuk10-10 ier10-9 shaner10-0	0	.000	0 .00										
(ym Low Shaye Mare Amy Bare Quinn Kri auren S (elci New	czuk	0	.000	0 .00	0 0)	.000	2	.000	0	.000	0	0-0	
Gym Low Shaye Many Bard Quinn Kri auren S Gelci New Gelly Ros	czuk10-10 ier10-9 shaner10-0	0	.000		0 0))	.000 .000 .000	2 1 0	.000	0	.000 .000 .000	0 0 0	0-0 0-0 0-0	
Kym Low Shaye Mark Amy Bark Quinn Kri Lauren S Kelci New Kelly Ros Tobie Rip Mel Hicks	czuk 10-10 ier 10-9 ihaner 10-0 wlin 9-5 ss 10-9 opy 2-0 s 7-0	0 0 0 0	.000 .000 .000 .000	0 .00 00. 0 00. 0	0 (0 (0 (0 (0 (0 (0 (0 (0 (0 (0 (0 (0 (0)))	.000 .000 .000	1 0 0	.000 .000 .000	0 0	.000 .000 .000	0 0 0	0-0 0-0 0-0	
Kym Low Shaye Many Bard Quinn Kri Lauren S Kelci New Kelly Ros Tobie Rip Mel Hicks Lexi Rakd	czuk 10-10 ier 10-9 ihaner 10-0 wlin 9-5 ss 10-9 ppy 2-0 ss 7-0 estraw 1-0	0 0 0 0	.000 .000 .000	0 .00 0 .00 0 .00	0 (0 0 (0 0 (0 0 (0))))	.000	1 0	.000	0	.000	0	0-0 0-0	
Kym Low Shaye Many Baro Quinn Kri Lauren S Kelci New Kelly Ros Tobie Rip Mel Hicks Lexi Rako Maggi St	czuk 10-10 ier 10-9 ihaner 10-0 wlin 9-5 ss 10-9 opp 2-0 ss 7-0 estraw 1-0 eury 3-0 iramek 2-0	0 0 0 0 0 0	.000 .000 .000 .000 .000 .000	0 .00 0 .00 0 .00 0 .00 0 .00 0 .00 0 .00)))))	.000 .000 .000 .000 .000	1 0 0 0 0	.000 .000 .000 .000 .000	0 0 0 0 0	.000 .000 .000 .000 .000	0 0 0 0 0	0-0 0-0 0-0 0-0 0-0 0-0	
Kym Low Shaye Many Bard Quinn Kri Lauren S Kelci Nev Kelly Ros Jobie Rip Mel Hicks Lexi Rakd Maggi St Vatalie S Caroline	czuk	0 0 0 0 0 0 0	.000 .000 .000 .000 .000 .000 .000 .00	0 .00 0 .00 0 .00 0 .00 0 .00 0 .00 0 .00))))))	.000 .000 .000 .000 .000 .000	1 0 0 0 0 0	.000 .000 .000 .000 .000 .000	0 0 0 0 0 0	.000 .000 .000 .000 .000 .000	0 0 0 0 0 0	0-0 0-0 0-0 0-0 0-0 0-0 0-0	
Kym Low Shaye Mark Quinn Kriauren S Kelci Nev Kelly Ros Tobie Rip Mel Hicks Lexi Rakk Maggi St Jatalie S Caroline Hannah N	czuk 10-10 ier 10-9 ihaner 10-0 wlin 9-5 ss 10-9 opp 2-0 ss 7-0 estraw 1-0 eury 3-0 iramek 2-0	0 0 0 0 0 0	.000 .000 .000 .000 .000 .000	0 .00 0 .00 0 .00 0 .00 0 .00 0 .00 0 .00	0)))))))	.000 .000 .000 .000 .000	1 0 0 0 0	.000 .000 .000 .000 .000	0 0 0 0 0	.000 .000 .000 .000 .000	0 0 0 0 0	0-0 0-0 0-0 0-0 0-0 0-0	



Kassidy Fitzpatrick

2009 OFFENSIVE LEADERS



Erin Bricker

POINTS

10

11

13

##

17

13

17

Nikki Marshall Kelly Butler

Erin Bricker

Kate Russell

GOALS

Kelly Menachof

Nikki Marshall

Kassidy Fitzpatrick

Kelly Butler

Erin Bricker

Kate Russell

Amý Barczuk

Kym Lowry

Quinn Krier

Kelly Ross

ASSISTS

Erin Bricker

Kelly Butler

Katé Russell

Kelly Menachof

Kassidy Fitzpatrick

Nikki Marshall

Kelly Menachof

Shaye Marshall

Kassidy Fitzpatrick



Shots

53 33

35 17 29

26

17

29 26

16

98

Shots

17

33

29

26

53

Pts

10

8442222

Pts

10

4

4

17

1

G

8

4

4 2 1

G

8

2

4 2 2

Α

GP

19 15

19

18

15

19

GP

19

19

18

15

19

19

17

15

18

19

GP

18

15

15

19

19

Kelly Butler



Nikki Marshall





2009 BIG 12 STATISTICS

Team Statistics

SHOTS				POINTS				GOALS				GOALS PER GAME			
##Team	GP	No.	Avg/G	## Team	GP	No.	Avg/G	## Team	GP	No.	Avg/G	## Team	GP	No.	Avg/G
 Texas A&M 	25	505	20.20	 Nebraska 	20	178	8.90	 Nebraska 	20	62	3.10	 Nebraska 	20	62	3.10
2 Missouri	22	459	20.86	Missouri	22	153	6.95	Missouri	22	56	2.55	Missouri	22	56	2.55
3 Nebraska	20	422	21.10.	Texas A&M	25	148	5.92	Texas A&M	25	51	2.04	Kansas	22	47	2.14
4. Kansas	22	365	16.59	4. Kansas	22	133	6.05	4. Kansas	22	47	2.14	4. Texas A&M	25	51	2.04
Oklahoma State	24	359	14.96	Oklahoma State	24	124	5.17	Oklahoma State	24	46	1.92	Texas Tech	20	40	2.00
Texas Tech	20	338	16.90	Texas Tech	20	110	5.50	Texas Tech	20	40	2.00	Oklahoma State	24	46	1.92
Oklahoma	19	286	15.05	Baylor	19	75	3.95	Baylor	19	27	1.42	Baylor	19	27	1.42
8. Baylor	19	274	14.42	8. Texas	21	71	3.38	8. Oklahoma	19	26	1.37	8. Oklahoma	19	26	1.37
9. Iowa State	20	262	13.10	9. COLORADO	19	68	3.58	COLORADO	19	26	1.37	COLORADO	19	26	1.37
10. COLORADO	19	258	13.58	Oklahoma	19	68	3.58	10. Texas	21	24	1.14	10. Texas	21	24	1.14
11. Texas	21	244	11.62	11. Iowa State	20	50	2.50	11. Iowa State	20	18	0.90	11. Iowa State	20	18	0.90
ASSISTS				ASSISTS PER GAMI	E			GOALS ALLOWED				GOALS AGAINST A	VERAG	ŝΕ	
## Team	GP	No.	Avg/G	## Team	GP	No.	Avg/G	## Team	GP	No.	Avg/G	## Team	GP	GA C	BaAvg.
 Nebraska 	20	54	2.70	 Nebraska 	20	54	2.70	 Oklahoma State 	24	16	0.67	 Oklahoma State 	24	16	0.65
Texas A&M	25	46	1.84	Missouri	22	41	1.86	Baylor	19	18	0.95	Baylor	19	18	0.88
Missouri	22	41	1.86	Texas A&M	25	46	1.84	3. COLORADO	19	22	1.16	Texas A&M	25	27	1.04
4. Kansas	22	39	1.77	Kansas	22	39	1.77	Iowa State	20	22	1.10	Iowa State	20	22	1.04
Oklahoma State	24	32	1.33	Texas Tech	20	30	1.50	Texas A&M	25	27	1.08	5. COLORADO	19	22	1.12
Texas Tech	20	30	1.50	Oklahoma State	24	32	1.33	6. Texas	21	32	1.52	Missouri	22	33	1.44
7. Texas	21	23	1.10	Baylor	19	21	1.11	Missouri	22	33	1.50	7. Texas	21	32	1.45
Baylor	19	21	1.11	8. Texas	21	23	1.10	Nebraska	20	33	1.65	Nebraska	20	33	1.57
Oklahoma	19	16	0.84	9. COLORADO	19	16	0.84	Oklahoma	19	34	1.79	Kansas	22	36	1.59
COLORADO	19	16	0.84	Oklahoma	19	16	0.84	10. Texas Tech	20	34	1.70	10. Texas Tech	20	34	1.59
11. Iowa State	20	14	0.70	11. Iowa State	20	18	0.70	11. Kansas	22	36	1.64	Oklahoma	19	34	1.74
SAVES				SHUTOUTS											
## Toam	CD	Nο	Ava/C	## Toam	CD	Sho	Ava/C								

Team 1. Oklahoma GP 19 Avg/G 5.84 ## Team Avg/G 0.58 GP 24 25 19 19 22 22 20 21 Oklahoma State 111 10 2. Kansas 22 20 25 20 22 24 20 **19** 19 92 4.18 0.40 2. Texas A&M 3. Iowa State 4.30 3. Baylor 0.37 4. Texas A&M 83 81 81 80 75 **72** 72 71 3.32 4. Okĺahoma 0.32 4.05 3.68 **0.32** 0.27 Nebraska Missouri COLORADO Kansas 7. Oklahoma State 3.33 Missouri 0.27 8. Texas Tech 8. Iowa State 9. COLORADO 3.79 Texas 0.24 10. Texas Tech 0.20 Baylor 3.79 11. Texas 11. Nebraska

Individual Statistics

SHOTS ## Player-Team 1. Andrighetto, Kristin-MU 2. Lytle, Taylor-TTU 3. Marlborough, Morgan-NU Shipley, Rachel-TAMU 5. Cressy, Emily-KU 6. Strawser, Siera-OSU 7. Dolinsky, Monica-KU 8. Palmer, Whitney-OU 9. Mautz, Alyssa-TAMU 10. Hooper, Whitney-TAMU POINTS	GP 22 19 20 25 22 24 21 19 25 25	No. 113 91 87 73 72 71 69 66 64	5.1- 4.79 4.33 3.44 3.33 3.00 3.36 2.6-	3 4 9 5 8 2 0 8 3 4	ASSISTS ## Player-Team 1. Lytle, Taylor-TTU 2. Dolinsky, Monica-KU 3. Caniglia, Anna-NU 3. Berry, Whitney-KU 5. Shipley, Rachel-TAMU 6. Marlborough, Morgan-Ni Young, Bri-TAMU 8. Collins, Michelle-MU Slapper, Blair-NU Thomas, Molly-NU Williams, Conner-TTU	GP 19 21 20 22 25 U 20 25 19 20 20	11 10 9 9 7 7 6 6	0.45 0.41 0.36 0.35 0.28 0.32 0.30	SAVE PERCENTAGE ## Player-Team GP No. Avg/C 1. Franch, Adrianna-OSU 23 75 .84 2. Quintanna, Gianna-BU 19 62 .79 3. Gleason, Ann-ISU 20 85 .79 4. Linder, Kara-CU 19 71 .77 5. Kyer, Kelly-TAMU 22 39 .76 6. Macdonald, Tara-NU 12 45 .76 7. Devonshire, Kelsey-OU 19 105 .75 8. Arnold, Kristin-TAMU 24 43 .74 9. Liebetrau, Kat-KU 14 47 .72 10. Kittamore, Tasha-MU 22 78 .70
## Plaver-Team	GP	G	A P	•	GOALS AGAINST AVG				SAVES PER GAME
1. Marlborough, Morgan-NU	20	21	7 49		## Player-Team	GP	GA	GaAvq	## Player-Team GP No. Avg/G
Palmer, Whitney-OU	19	15	2 32		1. Franch. Adrianna-OSU	23	14	0.61	1. Devonshire, Kelsey-OU 19 105 5.53
3. Ward, Dawn-TTU	20	13	1 27	•	2. Quintanna, Gianna-BU	19	16	0.93	2. Gleason, Ann-ISU 20 85 4.25
Cressy, Emily-KU	22	12	3 27	•	Arnold, Kristin-TAMU	24	15	1.03	3. Wikelius, Erin-TTU 11 43 3.91
Andrighetto, Kristin-MU	22	11	5 27	•	Gleason, Ann-ISU	20	22	1.04	4. Macdonald, Tara-NU 12 45 3.75
Shipley, Rachel-TAMU	25	9	9 27		Dyer, Kelly-TAMU	22	12	1.05	5. Linder, Kara-CU 19 71 3.74
Niemeier, Annika-OSU	24	11	4 26		6. Linder, Kara-CU	19	21	1.09	6. Dittamore, Tasha-MU 22 78 3.55
8. Hooper, Whitney-TAMU	25	10	4 24		Pitts, Colleen-TTU	11	13	1.22	7. Gaul, Alexa-UT 18 61 3.39
Thomas, Molly-NU	20	8	6 22		Macdonald, Tara-NU	12	14	1.34	8. Liebetrau, Kat-KU 14 47 3.36
Dolinsky, Monica-KU	21	6	10 22		9. Gaul, Alexa-UT	18	26	1.36	9. Hanley, Julie-KU 12 40 3.33
					Dittamore, Tasha-MU	22	33	1.49	10. Quintanna, Gianna-BU 19 62 3.26
GOALS					0.11/50				
## Player-Team	GP		Avg/G		SAVES	GP	NI-	A / O	SHUTOUTS
Marlborough, Morgan-NU Dalmar, Whitney, OU	20	21	1.05		## Player-Team 1. Devonshire, Kelsey-OU	19	No. 105	Avg/G 5.53	## Player-Team GP Sho Sho/G
Palmer, Whitney-OU Ward, Dawn-TTU	19 20	15 13	0.79		Gleason, Ann-ISU	20	85	5.53 4.25	1. Franch, Adrianna-OSU 23 11 0.48
4. Cressy, Emily-KU	22	12	0.65		3. Dittamore, Tasha-MU	22	78	3.55	2. Linder, Kara-CU 19 6 0.32
5. Andrighetto, Kristin-MU	22	11	0.50		4. Franch. Adrianna-OSU	23	75	3.26	Devonshire, Kelsey-OU 19 6 0.32
Niemeier, Annika-OSU	24	11	0.30		5. Linder, Kara-CU	19	71	3.74	4. Gleason, Ann-ISU 20 5 0.25
7. Hooper, Whitney-TAMU	25	10	0.40		6. Quintanna, Gianna-BU	19	62	3.26	5. Quintanna, Gianna-BU 19 4 0.21
8. Shipley, Rachel-TAMU	25	9	0.36		7. Gaul. Alexa-UT	18	61	3.39	Gaul, Alexa-UT 18 4 0.22
9. Smith, Lotto-BU	19	8	0.42		8. Liebetrau. Kat-KU	14	47	3.36	Dittamore, Tasha-MU 22 4 0.18
. Marshall, Nikki-CU	19	8	0.42		9. Macdonald, Tara-NU	12	47	3.75	8. Pitts, Colleen-TTU 11 3 0.27
Hamilton, Katie-TAMU	20	8	0.40		10. Wikelius, Erin-TTU	11	43	3.73	Liebetrau, Kat-KU 14 3 0.21
Thomas, Molly-NU	20	8	0.40)	Arnold, Kristin-TAMU	23	43	1.79	10. Hanley, Julie-KU 12 2 0.17
Bonnick, Alysha-MU	22	8	0.36	i	AITIOIU, MISIIII-TAIVIU	23	43	1.19	· ·



2009 NATIONAL ATTENDANCE FIGURES

2009 NCAA Division I Women's Soccer Home Attendance by Total 2009 NCAA Division I Women's Soccer Home Attendance by Average

Rank	Team H	ome Attend.	Games	Avg. Attend.	Rank	School Hor	ne Attend.	Games	Avg. Att.
1.	Portland	45,132	13	3,472	1.	Portland	45,132	13	3,472
2.	Texas A&M	35,317	11	3,211	2.	Texas A&M	35,317	11	3,211
3.	North Carolina		13	2,110	3.	North Carolina	27,435	13	2,110
4.	BYU	21,279	11	1,934	4.	BYU	21,279	11	1,934
5.	Stanford	19,176	12	1,598	5.	Stanford	19,176	12	1,598
6.	Notre Dame	19,062	15	1,271	6.	Georgia	18,114	12	1,510
7.	Georgia	18,114	12	1,510	7.	New Mexico	13,572	9	1,508
8.	South Carolina		12	1,490	8.	South Carolina		12	1,490
9.	Florida	17,867	12	1,489	9.	Florida	17,867	12	1,489
9. 10.	Florida St.	15,418	14	1,101	9. 10.	TCU	11,450	8	1,431
11.	Penn St.	14,378	12	1,101	11.	Fresno St.	9,644	7	1,378
12.	New Mexico		9	1,198	12.	Notre Dame		15	1,376
13.	UCLA	13,572	12	1,017	13.	Penn St.	19,062	12	
	TCU	12,209	8			COLORADO	14,378		1,198
14.		11,450		1,431	14.		9,560	8	1,195
15.	Santa Clara	11,358	12	947	15.	New Mexico S	•	7	1,129
16.	Washington	11,356	12	946	16.	Florida St.	15,418	14	1,101
17.	Texas	11,069	12	922	17.	Virginia	10,654	10	1,065
18.	Virginia	10,654	10	1,065	18.	Connecticut	10,387	10	1,039
19.	Connecticut	10,387	10	1,039	19.	UCLA	12,209	12	1,017
20.	Tennessee	10,114	10	1,011	20.	Tennessee	10,114	10	1,011
21.	Kentucky	10,062	11	915	21.	LSU	9,991	10	999
22.	LSU	9,991	10	999	22.	Santa Clara	11,358	12	947
23.	Fresno St.	9,644	7	1,378	23.	Washington	11,356	12	946
24.	COLORADO	9,560	8	1,195	24.	Texas	11,069	12	922
25.	Boston College		15	628	25.	Kentucky	10,062	11	915
26.	Minnesota	9,365	11	851	26.	Texas Tech	7,262	8	908
27.	Charlotte	9,206	13	708	27.	West Virginia	8,002	9	889
28.	Hawaii	9,127	11	830	28.	Northern Ariz.	7,960	9	884
29.	North Carolina St	. 8,972	11	816	29.	Navy	7,819	9	869
30.	Dayton	8,656	11	787	30.	Minnesota	9,365	11	851
31.	Maryland	8,179	12	682	31.	Hawaii	9,127	11	830
32.	Ohio St.	8,140	11	740	32.	North Carolina S	t. 8,972	11	816
33.	West Virginia	8,002	9	889	33.	Dayton	8,656	11	787
34.	Northern Ariz.	7,960	9	884	34.	Auburn	7,590	10	759
35.	New Mexico St.	7,900	7	1,129	35.	Ohio St.	8,140	11	740
36.	Navy	7,819	9	869	36.	Arkansas	6,578	9	731
37.	UTEP	7,703	12	642	37.	Oklahoma St.	7,256	10	726
38.	Auburn	7,590	10	759	38.	Michigan St.	7,249	10	725
39.	Creighton	7,371	12	614	39.	Kansas	6,413	9	713
40.	Texas Tech	7,262	8	908	40.	Charlotte	9,206	13	708
41.	Oklahoma St.	7,256	10	726	41.	Illinois	7,075	10	708
42.	Michigan St.	7,249	10	725	42.	Maryland	8,179	12	682
43.	Vanderbilt	7,199	12	600	43.	Utah	6,736	10	674
44.	Oklahoma	7,084	11	644	44.	Washington St		7	673
45.	Illinois	7,075	10	708	45.	San Diego	5,832	9	648
46.	Boston U.	7,054	11	641	46.	Oklahoma	7,084	11	644
47.	Miami (Fl.)	6,870	11	625	47.	UTEP	7,703	12	642
48.	Utah	6,736	10	674	48.	Boston U.	7,054	11	641
49.	Rutgers	6,699	11	609	49.	Boston College		15	628
50.	Arkansas	6,578	9	731	50.	Miami (Fl.)	6,870	11	625
		٥,٠.٥	•		00.		5,5. 5		020